Lecture?

Question 6

dr + (sec ) r = cosf

Comparing the given differential equation with standard form of linear 1st
order differential equation;

de + P(O)r = Q(0)

= P(0) =secf and Q(#) = cos b

Now the integrating factor;

IF = ef P(0)do _ ef sec0df _ oln|secf+tan 6] fsecede —In |sec€ + tan0|

IF =secl +tan@ et =t vt e Rt

.".its solution is given by;

(Integrating Factor)x (Dependent variable) = [ ((Integrating Factor) x RHS) df

= (secf + tan ) r = [ (sec + tan ) cos 0do

= (secf + tanf)r = [ (L5 + —5sin 9) cos 0d0
= (secl + tan)r = [ (COS cosf + —; sinf cos ) df
= (secl + tan ) r = [ (1 +sin0) d@—fld@—I—fsmOdH
= (secl + tan ) r = 0+ (— cos ) + K ,where K is the constant of integra-
tion.
— T -
= ’T — secO+tan0 (0 —cosf+ K)‘, is the required solution.




